/4

U/

Beam B

2 pcCs

LIST OF KIT ELEMENTS
SCALA Basic

Top Permanent Rug

1 pc

Mounting element

2 pcCs
Tracery Rectangular Steel
22 pCS Washer

2 pcCs

Engraved
Decorative Cover

1 pc

Biscuit
4 pcs

Permanent rung

11 pcs

Decorative Cover

1 pc

Countersunk Head Screw
Méx25 - 24 pcs

Méx15 - 4 pcs

M8x100 - 2 pcs

Steel Beam Fastener

2 pCs

Wall Plug for
concrete walls
M8x80 -12 pcs



STEP 1 STEP 2

Screw the Steel Fasteners
Join Beam A with to the Beams with

Beam B by aligning Countersunk Head
mortises and biscuits Screws M6x25

~

7\

/.‘75/9
. Y/
)

Place Biscuits into
Mortises

NN N
AN

5@/
AATRNRY
® ® \b\b\b
S \.\\.}\.\\.\\./
NE

IR
NIV
» ® bbbj/A

\/K\\.\\.}\.\\.\\./
A\

AN

-/
N3
AAARAR

yav4

//
(\

/o
p
-



STEP 3

Secure the Rungs by tightening the outside Tracery

[T

OOO/

/O“

)

I\

/

Pull the Permanent Rungs through holes in the Beams

~

X% [-Jl7
P 7\

/ooo
/ / / / / /

& & 8 8 8 8 8 & & &

L-/

/

&

AN

W\

/4

/)

o oo oo
N I N o I ) I >

i

~

STEP 4

Fit Top and Bottom Mounting Elements

/> into the sockets in the Beams
N

/0'0

Tighten the Mounting Elements to the Beams
with Countersunk Head Screws M6x25




//

4/

-
S

STEP

@

LT
-\Q‘

N S ) I I,

il

//

/

i

5

H o
/

Tighten the Top Permanent Rung with
Countersunk Head Screws M8x100.

Use the Rectangular Metal Washer
included in the set

77

S/

A\

~

DD NN DD

Q

STEP 6

Make holes in the wall to place Wall
Plugs.

Mark the holes by placing a ladder
against the wall.

Then screw the ladder to the wall with
Countersunk Head Screws M8x80




Screw on the Decorative Elements to
cover Mounting Elements with

Countersunk Head Screws M6x15

STEP 7
@2
R§ % ‘
\Q /'(~ \ 7
\“%Er_ (o M0 ﬁ'

/
DN DO NDY DD

o)

FINISHED ASSEMBLY




	Wykaz elementów
	Widok rysunku29
	Widok rysunku31
	Widok rysunku32
	Widok rysunku38
	Widok rysunku39
	Widok rysunku40
	Widok rysunku42
	Widok rysunku43
	Widok rysunku45
	Widok rysunku46
	Widok rysunku47
	Widok rysunku48
	Widok rysunku49
	Widok rysunku50
	Widok rysunku51
	Widok rysunku52
	Widok rysunku53
	Widok rysunku55
	Widok rysunku56
	Widok rysunku57
	Widok rysunku58
	Widok rysunku59
	Widok rysunku60
	Widok rysunku68
	Widok rysunku69
	Widok rysunku70
	Widok rysunku71
	Widok rysunku73
	Widok rysunku74
	Widok rysunku75

	1-2
	Widok rysunku3
	Widok rysunku4
	Widok rysunku5
	Widok rysunku6
	Widok rysunku7

	3-4
	Widok rysunku76
	Widok rysunku78
	Widok rysunku80
	Widok rysunku81
	Widok rysunku82

	5-6
	Widok rysunku13
	Widok rysunku14
	Widok rysunku15
	Widok rysunku16
	Widok rysunku61
	Widok rysunku62
	Widok rysunku64
	Widok rysunku65
	Widok rysunku66
	Widok szczegółów H (1 : 7)
	Widok rysunku83

	7
	Widok rysunku9
	Widok rysunku10
	Widok rysunku11
	Widok rysunku17
	Widok szczegółów  (1 : 5)
	Widok rysunku19
	Widok szczegółów G (1 : 7)
	Widok rysunku84




